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Q-1 (A) Whatis Reasoning Ability? Explain the main types of reasoning ability in detail. €))
Q-1 (B) Whatis Aptitdde test? Explain importance of Aptitude test. &)

| OR |
Q-1 What is entrance examination, list out the name of entrance examination and explain any two  (18)

of them in detail.

Q-2 Each question is compulsory & carry one marks. (17

(1) TIGER :: QDFHS FISH :: ?

(A) GERH (B) GRHE

(C) GREH , (D)  GHRE
(2)  Which word does not being with others? '

(A)  Guitar , ' (B) Flute

(¢)  Violin (D)  Banjo
{3) QPO,NML, KJI, ,EDC

(A) HGF ' (B) CAB

() JKL (D) GHI

(4) If the letters of the word 'CYCLINDER' are arranged alphabetically, then which letter would
be farthest from the first letter of word?

(A) N B)y E
< Y o R
(5) In a certain code 'SEQUENCE' is coded as TDOFVRFT. How is 'CHILDREN' coded in that
code?
(A) OFESIMID ®) OFSEMIJID
{C) OFSEIIMD . ({3)) OFSEJMID
(6) LIGHT:BLIND
(A) speech: dumb (B)  language: deaf
C) tongue: sound D) voice: vibration
(7) AFTER:BEFORE
(A) first: second {B) present: past
{©) contemporary: historic D)) successor: predecessor
(8) Architect: Building:: Sculptor : ?
(4) Museum (B) - Stone
(C) Chisel (D) Statue

(p T




(9) My uncle decided to take coves a0 my sister to the market,
(A) 1 (B)  Mine
(C) Me ' (D)  Myself

Instruction for Question No. 1010 13

Six friends P, Q, R, S, T and U are sitting around the hexagonal table each at one corner and
are facing the cenire of the hexagonal. P is second to the left of U. Q is neighbour of R and S,
T is second to the left of S.

(10) Which one is sitting opposite to P?

(A) R ® Q
C) T D) S
(11) Who is the fourth person o the left of Q7
“ P ®) U
) R (D) Data inadequate
(12) Which of the following are the neighbors of P?
(A) U&P _ (B) T&R
(C) U&R — (D) Data inadequate
(13) Which one is sitting opposite to T ?
(A) R (B)
(C) Cannot be determined Dy S
(149 (1) 1(2) immediately (3) Salary (4) my (5) want
(A) 43152 (B) 15432
(Cy 25143 (D) 42351
(15) (1) medicine (2) a (3) Neeta {4) given (5) was
(A) 51423 (B) 25431
€y 15423 (D) 35421
(16) 2,4,12,48,240, 7
(A) 960 (B) 1440
(©) 1080 ' | @) 1920
(17) Country : President :: State : 9
(A) Governer (B) MP
(C) Legislator (D) Miaister
Each question is compulsory & carry one marks. (18)
For question 1 to 5
The following table shows the number of new employees added to different categorics of
employees in a company and also the number of employees from these categories who left the
company every year since the foundation of the Company in 1995,
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Year | Managers Technicians Operators Accountants Peons

New | Left . New : Left : New | Left | New | Left | New Left

1995 1 760 | - {1200 . - 880 | - | 1160 | - | 80 -

1996« 280 | 120 | 272 120+ 256 : 104 | 200 100 | 184 96

1997 . 179 | 92 240 128 ¢ 240 : 120 . 224 104 - 152 - 88

1998 | 148 | 88 236 9 . 208 | 100 . 248 96 196 . 80

1999 - 160 : 72 256 100 ; 192 112, 272 88 224 120

2000 193 1 96 | 288 112 248 | 144 | 260 | 92 | 200 104

What is the difference hetween the total number of Tecf;nicians added to the Compan)ifiand the
total number of Accountants added to the Company during the years 1996 to 20007

A 128 (B) 112

(C) 96 ‘ D) 88 7

What was the total number of Peons working in the Company in the year 1999?
(A 1312 (B) 1192

{9 1088 ‘ (D) 968

For which of the following categories the percentage increase in the number of employees
working in the Company from 1995 to 2000 was the maximum?

(A) Managers (B) Techniciang
(8 Operators (D) Accountants

What is the pooled average of the total number of employees of all categories in the year
19977 ' '

(A) 1325 ®) 1195
(C) 1265 D 1235

During the period between 1995 and 2000, the total number of Operators who left the
Company is what percent of total number of Operators who joined the Company?

Ay  19% B 21%
27% o 29%
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For question 6 to 10

In a school the periodical examination are held every second month. In a session during
April 2001 - March 2002, a student of Class IX appeared for each of the periodical
exams. The aggregate marks obtained by him in each periodical exam are represented in
the line-graph given below,
Marks Obtained by student in Six Periodical Held in Every Two Months During the
Year in the Session 2001 - 2002.

Maximum Total Marks in each Periodical Exam = 500

410 - - S, e e . 405, .

- U@W‘g@

390
380
360 - |
350 +-

330 : ; - } : 1 §
Apr-01  Jun-01  Aug-01  Oct-01  Dec-01  Feh-0?
Perindical Exnims

In which periodical exams did the student obtain the highest percentage increase in marks over
the previous periodical exams?

(A) June, 01 ‘ (B) August, 01
(O Oct, 01 (D) Dec, 01

The total number of marks obfained in Feb. 02 is what percent of the total marks obtained in
April 01 ?

(A  110% B  1125%
©  115% - D)  116.5%

What is the percentage of marks obtained by the student in the periodical exams of August, 01
and Oct, 01 taken together ?

(A)  73.25% . | ®B)  75.5%
© 7% (D)  78.75%

What are the average marks obtained by the student in all the periodical exams during the last
session ?

(A) 373 (B) 379
() 381 - @) 385

In which periodical exams there is a fall in percentage of marks as compared to the previous
periodical exams ?

(A) None (B) June, 01
) Oct, 01 (™ Feb, 02

Inustruction for Question No. 11 to 15 :Study the following graph carefully and answer the

4
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(13)

(14)

15

questions given below: _
Distribution of candidates whe were enrofled for MBA entrance exam and the candidates

(out of those enrolled) who passed the exam in different institutes:

Candidates Fopllod = 8550

Canéidates wheo Passed the Exant = 37008

What percentage of candidates passed the Exam from institute T out of the total number of
candidates enrolled from the same institute?

(A) 50% B) 62.5%

© 75% D) 80%

Which institute has the highest percentage of candidates passed to the candidates enrolled?
(A) Q B) R

© Vv @ T

The number of candidates passed from institutes S and P together exceeds the number of

candidates enrolled from institutes T and R together by:

(A) 228 (B) 279

(C) 399 D) 407

What is the percentage of candidates passed to the candidates enrolled for institutes Q and R
together?

(A) 68% B) 80%

(&) 74% (D) 65%

What is the ratio of candidates passed to the candidates enrolled from institute P?

(A)  9:11 (B) 14:17

©) 6:11 (D) 9:17

(PT 0D




Instruction for Question No. 16 to 18 »Study the following graph carefully and answer the
questions given below:

The bar graph given below shows the data of the production of paper (in lakh tonnes) by
three different companies X, Y and Z over the years.

Production of Paper (in lakh tonnes) by Three Companies X, Y and 7, aver the Years,
&0
50
30

20

(16) For which of the foII('Jwing years, the percentage rise/fall in production from the previous year
' is the maximum for Company Y?

(A 1997 | , (B) 1898
(© 1999 (D) 2000

(17) What is the ratio of the average production of Company X in the period 1998-2000 to the
average production of Company Y in the same period?

(A) I:1 (B) 15:17
(9} 25:23 (D) 27:29
(18) The average production for five years was maximum for which company?
(a) X B Y
()] Z ‘ (D) X and Z Both

Instruction for Question No. 1 to 5 - Study the following paragraph carefully and answer an
the questions given below:

(1)  The meaning of ‘glittering prizes that the 20 ceatury so temptingly offers is

(A) pursuit of a commercialised material (B) replacement of rural by urban
culture interests
(©) complete removal of poverty (D absence of violence and corruption




(2)  The basis of 'an idyllic and rural paradise’ is

(A) rapid industrialisation of villages (B) self sufficiency in food clothes and
‘ simplicity of the lifestyle

(C) bringing to the villages the glittering (D) supporting those holdings powerful
prizes of the 20" century political positions

(3)  Which one of the following best illustrates the relationship between the phrases:
(i) 'eschew the glittering prizes' and
(ii) 'idyllic and rural paradise'?

(A) unless you do (i), you cannot have (B (i) and (ii) are identical in meaning
(i) ) ‘

©) first of all you must have (ii) in order (D) the meaning of (i) is directly
to do (i) opposite to (ii)

(4)  Mahatma Gandhi's views opposed industrialisation of villages because
(A) it would help the poor and not the (B) it would take away the skill of the

rich villagers
(C) it would affect the culture of the (D) it would undermine self-sufficiency
Indians and destroy the beauty of life of the

villager

(5) Mahatma Gandhi's dream of 'an idyllic and rural paradise' was not shared by
(A) those who did not believe in the (B) those who called him the Father of

industrialisation of the country Nation
(C) those who inherited political powers (D) those who believed that villages
after independence should be self-sufficient in food and
cloth -

Instruction for Question No. 6 to 11
Choose synonyms/similar word which best expresses the meaning of the given word.

(6) Natural
(A) Unbiased (B) Non-aligned
(©) Undecided (D) Indifferent
(7)  Shallow
(A) Artificial , - (B) superficial
(© foolish ) worthless
(8) Diversion
(A) Amusement (B) Distortion
© Deviation (D) ~ Byline
(9 Insolvent
(A) Poor (B) Bankrupt
© Penniless (D) Broke
(10) Inexplicable
(A) Confusing (B) Unaccountable
(O Chaotic : (D) Unconnected
(11) Feeble
(A)  Weak S (B)  Vain
© Arrogant ()] Sick




Instruction for Question No. 12 to0 17 :

Choose the word which is the exact antonyms / opposite the meaning of the given word.

(12) Able

(A) Disable (B) Enable

(C) Unable (D) Miscible
(13) Hostility

{A) Courtesy (B) Hospitality

© Relationship D) Friendliness
(14) Crowded .

(A) Busy : (B) Congested

© Quiet , : (D) Deserted
(15) Comic |

(A) Emotional (B) Tragic

© Fearful D) Painful
(17) Hopeless

(A) Cheerful (B) Consistent

© Fortunate (D) Shapely
(17) Expand

(A) Covert (B) Condense

©) Congest (D)  Conclude
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